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1. Charge

A piece of a metal Win‘] a charge of (+6.0C) contains (1.6 x 10*electrons).
What is the number of protons in this piece? 9, '-(Np_. N@Ye’

Vp H= 00—\, 60 M\ oo
Siahll i 5 &lgigy)l e o (ggiSIL6 X 101%) (+6.0C) oLe .sgias i asall o dahs
@ 1.6 x 10%° @ 6.0 x107° @ 5.35 x 10%° @ 2.15 x 10%°

2. Electric charge

Which of the following can be correct about the charge equals+2 ¢

+2 € (sqluy aiinib s Jgo o100 gg$s gl oSy s oo gl

@ 2electrons @® 1.6 X 10** protons © 1.6 X 10" electrons (@ 2 protons

3. Electric charge

When you rub a polythene rod with a wool cloth, electrons are transferred from
one to the other. What charge does the polythene rod get?
Sersilgdl cons Lngle Junny Gill ainidl Lo uugyguum,w Aoy B deraala, it gl coas elyai Loaic

avg;‘(ﬂ WM Dowa e ey
ﬂ)a'uL}lc/l 3T 2o Lp!

Positive (b Negative

Neutral @ Can’tdetermine

4. Electric charge

In the figure, there are two identical conducting balls. What is the charge of each ball after contact:

du.o]].x_” awy BJS JS ain ngJ rOS tdLLlJLo_LDg de_l_ag_o ULIJS_”‘ lS_m_” Q_(:i

%FW ;1,4 é$4 +r)=-6 |
® Qé - @8 ¢ o @6

+3¥3 = ( L_ ~£4(6) =-f ¢
6 74 6 +é4-¢ =124 ¢ v~ —3+(-’3) =—(=%¢ ) *

0509886279 K o cpall Gl
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5. Electric charge

A polythene rod gains a negative charge when it is rubbed with a cloth. Which one of the
following statements best explains how this happens?

Sio cany S Jasl JSbu gy adlill oliliall go gl .gbles aalhas «$po aic aullu dind grided] oo cuds cuiy

dont
& quotons trans?’er from the cIoth to the polythene rod (© Electrons transfer to the cloth from the

fﬁ-;.m_\ T8 ol s o mmm
(— Electrons transfer fr he cloth to the polythene rod @ _Protons transfer tothe cloth from the
il as Sl GilealiGy clign I J&im — (y= by ponthene rod
it move J_u\) «_3

6. Insulators, Conductors, Semiconductors, and Superconductors
Which of the following are materials that have zero resistance to the conduction of electricity?

@  Insulators ® Superconductors © Conductors @ Semiconductors

3! Jeogill da31e Mo gl Mo gl Do goll ol

7. Insulators, Conductors, Semiconductors, and Superconductors

Which of the following is a material with the smallest resistance to conductivity

@  Insulators ® Superconductors © Conductors (@ Semiconductors
Jlgal Jue gl 4886 Lo gall o 9ol o gall lii]
8. Charging
shows figure the by charging ............. T e\ B aauwlgs gaidl J<adl gigs
@Juaﬂezﬂ» hadidy— il --
@ Triboelectric Contact © mductlon @ Groundlng

O 0509886279 K o yyll ¢ylidiiyl
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9. Charging

In the figure, a rod carrying a positive charge is brought close to an uncharged electroscope without
touching it. When the connection to the ground is removed, which of the following is true?

ccxn«luclin:li:;troscope = ; ""u)‘s v QQSLLSLD QJJLL” LJ]JLLQ_” d] @l.mJ] JlﬂJ! roj &pJJLL” J_Q_D aic

s s e — -

rod

conductor 1
« wire < ol el

= Ground 7 =0 Y

@ a ball and conductor are both negatively charged. © a ball is positively charged and conductor
zeidl LJlw loadMS  Juogolly 6,81 is negatively charged.
il Wlw Jogolly @imaidl dusgo 8,51
@  aball and conductor are both positively charged. @ aball is positively charged and the
il w>g0 LdMS Jogollg 8,5 conductor is uncharged.

WUgz o jul Jogolly (izeidl dau>g0 6,31

10. the electrostatic force 0, o,
Two-point charges (+ q) and (- ) have the same‘maf:jnitude and the distance between them is (12 cm),
if the electrostatic force between the two charges is (6.0 N) What is the value of each charge?

a A, =
Kk V=9,
-‘j: Y? g}-'-'-'ﬂ-'-"':'JI Q-UcuS.uLuugJ.mS” 69.0.” cils In' (12 Cm) ogLnu Lo.m.;.u q_ol.m.ojlg JI:LD.oJI U la;.m.] (q —) 9 (q +) dl.x.la.ﬁ.l utumﬁ
PN S P O S Siins JSioss ym Lo (6.0 N) golus
32)*
@( '%5‘.5 gc ® 3.1puC © 8.9puC @ 3.1nC

11. the electrostatic force
| e : _ D= ke
Which of the following is correct for the D in the equation (D = 4k &) {

that links the Coulomb constant (k) to the electrical permittivity coefficient (&) 24 x;#?vf

(g0) syl ru:)'.o.m.” Jolzo (k) 0g)gS culi ¢un D = 4k g9/ ahaleoll Q_o D UJ.! aundl guno QJT]I Jo di

@ r ®  4/n © 1 @ 1m
12. the electrostatic force
i X2
Two-point charges, initially 2 cm apart, are moved to a distance of 10 cm apart. By what factor ?does the
resulting electric force between them change . 2
’ ’ YRR ey
‘T‘z— b)’q' ‘FI Yzz 1" —'2—5
Slomiys dailill ailymSl agall yyawi Joleo Lo ] OCM asluco I 2CM &lal oo Lmigy 6luoll cuilS Bl yyibasill oygiinid] Jai o
@ 1/25 ® 25 © 5 @ 1/5
2
‘lj Yzl _ _lo — loo
r v 7 LT =g
O 0509886279 E==E: T 2S5l i
|



LY

Mr: Abdelrahman Esam pa8ia piie Gl an elyja @

13. the electrostatic force

The figure shows three protons and electron, which of the following represents the magnitude
and direction of the electrostatic force on the electron at the pomt of origin (0, 0)?

) !g}xSJ]l QJ..: o_pgc.” cus_uLngJ.mSJI og_o_” ol:ulg JI:LQ_O J_uu QJ-’ Lowo d] cdg_ps.”g ul.:g.:g_p Al JS_mJ] 259y

y épmn §(0.0) Joll alnsiaic "o
Proton d. Q¢ x® _F 055 y
«-@-d--90>" g -@---> x 2
(05.0) Proton "\Q}\ == \§ X(\/é‘kib -~ > x
; S
@ k x 1.6 x 1071 © "k X (1.6 X 10719)2
d? d2
to the positive y-axis  wsgolly jga0ll LI to the positive y-axis  wsgolly jga.0ll LI
® kx 1.6 x10%° G @ k x (1.6 x 10719)2
d? d2
to the negative y-axis  cJludly jgo0ll LI to the negative y-axis  <Jludly jga.0ll JJI

14. the electrostatic force

d=6m t + \h)’
Charge A and charge B are 6 m apart. Charge A is 1.0 C, and charge B is 4.0 C, Charge C, which is28-C, is
located at the straight line between A and B charge C is in electrostatic equilibrium.
How far from charge A is charge C

N\ s

% i g3

\’Acu_mudl Ccua_m_”n_v_u 15l (5l alls o CMLAINES(S 3] B, A I lgJ 1
fm«/\d NS ge r‘-"SQ 9}@5uy oo &ummeJJongamwa

@ 4m ® 1m © 2m @
ST R AR C ‘ic

LA e Sk 7 X=2wm @ .
15. the electrostatic force 3_ Km B

Three charged spheres are at positions shown in figure. Which one of the following diagrams represent the
direction of the net force acting on charged sphere B?
¢ Biigauitoll 581 ,Le 55§0)l dlan ol g8l olail il dxiledl ogus I Ji

_2q

3 Lyl JSid] 6 dairgall gblgall 6 83gagae digaiio cilyS &l
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/’0’::]‘3% % E=ﬁ4‘
16. the electrostatic force wLeXeY JTXK 1— ‘Xg .(_%0\

A charge Q1 = Q is positioned on the x axis at x = a. Where should a charge Q2= 9Q be placed q& aby=e
to produce a net electric force of zero on charge placed at the origin? . X

: RN ER YO
\( f"“BL_\ &0 o O&)\‘Jb )\SA)O!F‘O
Lmﬂn.o.oq.dSqubJ.mSog.oe'.u]] Q2 = 90Q cu:uu_”g_ogu:ud_xlx a:u.cXJg::.o.”oJ.ch Qq.v.:x_ﬁx_”g_ogro.u

(@ Atx=2a ® Atx =3a © Atx=-3a @ Atx=-2a

17. the electrostatic force

In the figure, g1 = —10.0 uC and g2 = 20.0 uC and g3 = 30.0 uC The distances along the

X— axis is measured in meters. Find the electrostatic force exerted on q3 due to the other two charges g~ ~¢ -
L S Sk Kl2X|ox3oxto A
qi qz DTNy 3
@ @ | I/ E!) %1 _E ol %XQ/;, q\(loq )3‘5\“)(20(\0 )25
0 1.0 2.0 —axis £ ¢ P oo

1950 asll jgaoll Gle culsluoll gulsi g3 = 30.0 uC g g2 = 20. oucgq1 = —10 0 uC jglooll ﬁ;dr@m@@\ &
qlng d.l..u;u.qu £ q:ul.:..”g q3 ainidl ol.coygo.” Q.éJlJJ.m.SJI og_QJ]J];m.o :\:.)gl JJ.OJLJ

@ 1.05 N, +y axis ®  1.35tothe left © 1.05N,totheright @ 1.05 N, to the left

18. the electrostatic force
The figure shows two points charges, where can the electrostatic force be absent? Sowe +\9 Pe @ :
1 & 2 3 () a between Bz N _/\\Q"U
13.0 uC 30.0 uC hoo¥ smal chie o _)"“‘)'
SaS gl 89all masis gl ySos 290 ol o st guiind JSadl ymly

@ 1 © 72 © 3 @ 4

19. the electrostatic force

Two identical positively charged balls hanging at rest form the ceiling by insulated massless ropes of
equal length as shown in the figure. is the distance between the two charges?

wull go ggSudl gbgs ylhis yrigluio yriiage iiindiy geiigaio grililoio gipS JSil pmla,

9.Guc‘

9.6ucC
m=0.2kg m=0.2kg
@ 3.0m 10m © 0.5m @ 1.5m
+ 45 (qmo)
Vl< c\—\ \ ~N=\
o © W=lein

O 0509886279 K o yyll ¢ylidiiyl
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e Paper part

Three-point charges are placed at the vertices of a right triangle as in the adjacent figure,
Ifand g1 = 6.0 uCand q2 = 8.0 uCq3 = —q2 The air surrounded the charges,

y4 e Joloodl JSidl 6 LoS angljll 03ls ¢lio ugd) aic dshnsi cilin &illi creag
‘ g «olissidl hingclgmll yl8g q3 = —q29 q2 = 8.0 uCqql = 6.0 uCculs Iy

e Calculate the magnitude and direction of the electric force for charge g3
o
<

ﬂ : q3aiaidl s 1385 ;1) alyym<l 3qall oloillg jhio cunl
g2 .’.’: —?l
@ -

8

- m c. :ﬁ';ﬁ'm"""i%‘* XS, 2_7[\/ T 0N
=

(1 = 3N G = o (UP )
“—2 X\o C

RN ‘H\oX%X\bx‘ZX\b
n:;";;;;;;';;;" e r = ot als (L
20 o =GN

y =01 30.M ... "E]d—n 3_&
ollreC,Honu\;J.\JI' @ Tan G%‘\ Tm( ] ) lo9 ‘&7 203

”gjulmﬁﬂm.\\mdl \413 Ldps\s. 3\
J)\.M._C..)Lml p«fm\)&“
M}/ ALJd.ﬁchan ES ...
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